& £k 3

M 15 —2 (5 6 5:E36%)

el = H-3< Y eSS A

1 FEEEE i NI FEEHIX o o A it < FATRES
2 FEDOLFR FRRH X = o e S < 0 B
3 FHEOHM MR AERCRE L, TAOFRAEIG - FE %SO 2 3269 5 = & CHEREM
SCHUEGREE 7 & OEEE XY, TAHEE EERAG SO HEET D,
O Y 7 - Eo T VWES) DFfE CRMEARAE & oI/
@ HIREGEES
1 BHER
SfM5411HAFE (1 HE)
2 BT
RS L & — (R 1 2452 TH)
. " 3 FEENE
4R E FRE TR o T . m&®%w%wﬁ%&&% Ml RS2 2B S
TAE (PPN BRAN R O & o Z —1CT2A)) Lz, s/ bz
REBUTENE L, BESSGIZBWTHERITEY JET,
@ MR v ¥ — RO EHX 7 o #—D 5D SLIE BRI
1 ENAE
T ERAZRE X — AQ KO X 2 — 1 Yo ACRE L. (8
D SERAE T 12X Y, MEHREOEEICBWCEY S OZELEITO.,
5 #F ¥ H M SF5HE9H SHNLAME644E3HALI0OBET




A 15— 3 (5 6 S:BIR)

I = ¥ " #

FEDL TR PR X = o etk S < Y FEE
Bifu R X T a7 il S < W FITRES
1 IADE (BT - )
B H THREE AT
- JE) sk £ 55 < 0 HEHEF M4
i 30,000 "t ey 5,3 < 0 453 iBh )
& &t 30, 000
2 FZHOE (HAL : M)
s St EDHH R
£ B T %A *ﬁﬁj}ﬂ%f};% iﬂjlﬂnﬂ
S F T RAEZ—EEFIRKIF 15,000
T FEF R 20, 000 20,000 |gepermm . s 240 AL 5, 000
it E A R (R X v # —)
i RS OVE Ak 10, 000 10, 000 |Rk#45E6, 000 X 1[E=6, 000
£ 3528001 X 5[] =4, 0004
& 3 30, 000 30, 000




